
Exercise 1: 
Aim: Showing radar statonnrr targnts (Clutnrr on thn scrnnn; snn that thn signals strnngth 
significantlr dncrnasns with thn radar rangn; and chnck thn infunncn of thn Snnsitivitr Timn Control 

Procndurn: Connnct thn parabolic antnnna to thn Didactcal Primarr  adar; bn surn that thn Pownr 
linn and thn USB-linn arn connnctnd and start thn program Didactcal Primarr  adar. Thn Antnnna 
should bn orinntatnd through thn window using a slightlr dncrnasnd tlt (downwards: 7…10 Dngrnnsr.

Snttings: (in Modulator Sntupr: Pulsn modulaton: Of
P F: ≈25 Hz
Pulsn lnngth: 20 ns

(in Procnssor Sntupr: MTI: Of
Dopplnr: Of
Dopplnr Bins 0…7: Of (allr

(in STC Sntupr: STC: Of

  All othnr snttings in thn Srnoptc pannl mar bn in dnfault positon.

Switch thn Transmitnr Pownr ON. 

Switch thn A-scopn on scrnnn; click on thn Buton for an automatc
snlncton of thn optmum amplitudn ivaluns (in Y-dimnnsion of thn A-
scopnr.  nducn thn distancn scaln (in X-dimnnsionr in thn dnsirnd rangn
(150 to 200 mntnrsr. Obsnrivn thn signals on thn A-scopn. Find out which
signals arn ncho signals, and which signals arn onlr noisn pnaks.

Find a ivalun of ivoltagn amplitudn (in milliivoltsr that is highnr than thn most noisn pnaks but lownr 
than thn most ncho signals. Writn down this ivalun:
This ivalun will latnr usnd to as a thrnshold. ……………………………………………………………..mV

Find a sncond ivalun of ivoltagn amplitudn that is nnarlr thn maximum amplitudn of thn targnts in thn 
middln of thn rangn of intnrnst. Writn down this ivalun:
This ivalun will latnr usnd to as a clipping lnivnl. ……………………………………………………………..mV

Switch thn B-scopn on scrnnn; click again on thn Buton for an automatc
snlncton of thn optmum amplitudn ivaluns.  nmnmbnr: this is now in Z-
dimnnsion. Thn highnr thn ivalun, thn brightnr thn usnd color on thn B-
scopn.

Adjust thn rangn scaln from znro to 150 or 200 mntnrs.

Snt thn thrnshold lnivnl (black colorr and thn clipping lnivnl (whitn colorr of
thn B-scopn according thn mnasurnd milli-ivoltagns in A-scopn. 

Thrnshold lnivnl mnans that all signals haiving amplitudns lnss than this
lnivnl arn shown in black color. Clipping lnivnl mnans that all signals haiving
highnr amplitudn than thn clipping lnivnl arn shown in whitn. All signals
bntwnnn thnsn two lnivnls arn shown in a color 

Whr thnrn arn difnrnnt bars of thn samn color oivnr thn nntrn lnngth on thn B-scopn?

Whr thnrn arn ncho signals in a nnar rngion of distancns although thnrn arn no obstaclns?

Plnasn switch thn Snnsitivitr Timn Control (STCr on and rnpnat all mnasurnmnnts! Thn ivnrr strong 
ncho signals in nnar rngion that arn rncniivnd oivnr thn sidn lobns of thn antnnna arn rnducnd now.
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